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EDUCATION

Paper : EDU–HC–4026

( Educational Statistics )

( Honours Course )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer  either in English or in Assamese

1. Fill in the blanks/Answer the following : 1×5=5

t°∫t° [É⁄‡Œ≥Ë“π J‡∫„ k°‡“¸ öËπ A°π‡/l°¸v°π [É⁄‡ :

(a) _____ is the most frequently occurring

score in a distribution.

&i°‡ [§Æ°‡\>t° Œ§¢‡[ãA° öÂ>π‡§ı[v° Î“‡Ø‡ π‡[≈Ïi°‡
Ì“Ï· _____°˙

(b) Mid-value of the distance between

25th percentile and 75th percentile is

known as _____.

25t°≥ ≈t°‡}≈ [§ñÉÂ "‡πÁ° 75t°≥ ≈t°‡}≈ [§ñÉÂπ ≥‡\π

ÉËπŒπ ≥ã∏ [§ñÉÂA° _____ §Â[∫ \>‡ ô‡⁄°˙
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(c) In normal distribution, mean and ± 1s

include _____% of total scores.

—¨‡Æ°‡[ØA° [§t°πoπ Kÿl° "‡πÁ° ± 1s & ≥Âk° π‡[≈π
_____% "îzÆÂ¢°v°˚° A°Ïπ°˙

(d) Write the formula for mean by short

method for grouped scores.

Œ≥Ë[“t° π‡[≈π §‡Ï§ W°≥Â öá˝°[t°Ïπ Kÿl° l°¸[∫*Ø‡ ŒËyÏi°‡
[∫J‡°˙

(e) What other name can be used in place

of OX axis?

OX  "¤°ÏπJ‡π Œ∫[> ">∏ [A° >‡≥ §∏Ø“‡π A°[π§
ö‡[π?

2. Answer the following questions : 2×5=10

t°∫π ö¯≈óŒ≥Ë“π l°¸v°π [É⁄‡ :

(a) Find out the mode from the following

scores :

t°∫π π‡[≈Œ≥Ë“π öπ‡ §◊∫A° [>o¢⁄ A°π‡ :

12, 14, 16, 12, 14, 15, 14, 17, 16

(b) Mention two advantages of frequency

distribution table.

§‡π}§‡πt°‡ [§Æ°‡\> t°‡[∫A°‡π ÉÂi°‡ ŒÂ[§ã‡ l°¸Ï¿J A°π‡°˙
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(c) Write two advantages of central

tendency.

ÎA°ñÉ¯„⁄ ö¯Øot°‡π ÉÂi°‡ ŒÂ[§ã‡ [∫J‡°˙

(d) If Q3 50 21= ×  and Q = ×5 98, find the

value of Q1.

ô[É Q3 50 21= ×  "‡πÁ° Q = ×5 98 “⁄, Q1π ≥‡>
l°¸[∫*Ø‡°˙

(e) What is range?

ö¯Œ‡π [A°?

3. Answer any three of the following questions :

5×3=15
t°∫π ö¯≈óŒ≥Ë“π [ô ÎA°‡Ï>‡ [t¡[>i¡à¹ l°¸v°π [É⁄‡ :

(a) Write about the drawing procedure of

histogram.

"‡⁄t° [W°yπ "S°> öá˝°[t°π [§»Ï⁄ [∫J‡°˙

(b) Find the standard deviation from the

following scores :

t°∫π π‡[≈Œ≥Ë“π öπ‡ ≥‡>A° [§WÂ°∏[t° l°¸[∫*Ø‡ :

5, 7, 9, 13, 11, 15

(c) Mention five properties of mean as

a measure of central tendency.

ÎA°ñÉ¯„⁄ ö¯Øot°‡π Î\‡J [“W°‡Ïö Kÿl°π öÚ‡W°i°‡ ã≥¢ l°¸Ï¿J
A°π‡°˙
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(d) In a test, 16 students of a class have

scores as below :

&i°‡ öπ„¤°‡t° ÎA°‡Ï>‡ &i°‡ Î≈¯o„π 16 \> [≈¤°‡=¢„Ï⁄
t°∫t° [É⁄‡ ãπÏo ö¯‡ú°‡}A° ∫‡Æ° A°[πÏ· :

52, 35, 40, 43, 37, 32, 50, 45,

49, 46, 38, 34, 30, 33, 42, 31

Find out the percentile rank of score 33.

ö¯‡ú°‡}A° 33π ≈t°‡}≈ —Ç‡> l°¸[∫*Ø‡°˙

(e) Write five characteristics of normal

probability curve.

—¨‡Æ°‡[ØA° ö¯Œ‡≥‡>∏ §y˚°π öÚ‡W°i°‡ Ì§[≈ °∏ [∫J‡°˙

4. Answer any three of the following questions :

10×3=30
t°∫π ö¯≈óŒ≥Ë“π [ô ÎA°‡Ï>‡ [t¡[>i¡à¹ l°¸v°π [É⁄‡ :

Table No. 1/1 >} t¡à[ºA¡à

Class interval

ëÅøoã "”z¹àº
Frequency

¤à¹}¤à¹t¡à
26–28 2

23–25 3

20–22 5

17–19 7

14–16 10

11–13 5

8–10 6

5–7 2

N = 40  

(a) Find out the mean from table no. 1.

1 >} t°‡[∫A°‡π öπ‡ Kÿl° [>o¢⁄ A°π‡°˙
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(b) Find out the median from table no. 1.

1 >} t°‡[∫A°‡π öπ‡ ≥ã∏≥‡ [>o¢⁄ A°π‡°˙

(c) Find out the quartile deviation from

table no. 1.

1 >} t°‡[∫A°‡π öπ‡ W°tÂ°=¢A° [§WÂ°∏[t° [>o¢⁄ A°π‡°˙

(d) Find the rank difference correlation

coefficient from the following data :

t°∫π t°=∏π öπ‡ —Ç‡> ö‡=¢A°∏ Œ“Œ¥¨fiÍ° P°o‡}A° [>o¢⁄
A°π‡ :

Individuals

¤¸[v¡û¡
A B C D E F G H

Marks in Assamese

"Î³ãÚàt¡ >´¬¹¡
30 40 50 20 10 45 22 18

Marks in English

Òü}¹à\ãt¡ >´¬¹¡
55 75 60 12 11 38 25 15

(e) Write the basic principles of

constructing a graph.

Î∫J[W°y "S°>π §Â[>⁄‡É„ >„[t°Œ≥Ë“π [§»Ï⁄ [∫J‡°˙

H H H
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